Cantilever Arms - AT99N
Non-Locking Bolt On

AN

Back Cane shown
for reference only




Cantilever Arms - AT99N

Non-Locking Bolt On

Item
Number

Note

Part Number

Description

Quantity Per

Package

Assembly

e
RPBoo~v~ous~wNP

© 00 ~NO O WN P

=
o

11

1118594

1118595

Cantilever Arm Assembly - Right
Spacer, Coved (1/4 x 11/16 x 1/2")

NLA - Cam, Cantilever Arm

Locknut (1/4-28)

Washer (1/4 x 1/2 x 1/16")

Washer, Nylon (1/4 x 1/2 x 1/32")

NLA - Tube, Cantilever Arm, Black

NLA - Screw, Hex Head (1/4-28 x 2-3/4")
NLA - Screw, Hex Head (1/4-28 x 2-1/2")
Grip, Foam Hand (6-7/8" L)

Plug Button, Black (1")

Cantilever Arm Assembly - Left

Spacer, Coved (1/4 x 11/16 x 1/2")

NLA - Cam, Cantilever Arm

Locknut (1/4-28)

Washer (1/4 x 1/2 x 1/16")

Washer, Nylon (1/4 x 1/2 x 1/32")

NLA - Tube, Cantilever Arm, Black

NLA - Screw, Hex Head (1/4-28 x 2-3/4")
NLA - Screw, Hex Head (1/4-28 x 2-1/2")
Grip, Foam Hand (6-7/8" L)

Plug Button, Black (1")

1

PR RPRRPRRPRPRRPRPRRPRRPRPRPRRPREPRRLRERPR

1

NP RPRRPRPRPREPNRPARNRPRPRERPRERRERERENLEL-LN

NOTE: A -Includes items 2-11




